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2x3 +4x2 -7, B= x>+ x-29°] "5}o] A - 2BE
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@ 2x3+2x2+2x+3 @ 2x® +6x2-2x+3

® 2x3 +6x2-2x-3
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@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12
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8. THHA 2 4 a1l 4225+ 118 x4 12 Uhe YA

©-33  ©-2 @—11 @ 11 ® 33

f(x) = 222 + x + 22x + 1102} S},
f(x) = (x+1)Q(x) + R4 f(-1) = RO|EZ
f(=1) = ()2 4+ (-1 - 22 + 11=-11
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@x2+2x—|—2 @ x24+x+2 ® x2—x+2
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B(2x +1) = 2x® + 5x% + 6x + 2
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(2k+3)x+ Bk—1)y+5k—-9=0

kol tiste] Wz = A std
(2x+3y+5)k+ (3x—y-9)=0
o|AL kol tigt FSAlolEr
2x+3y+5=0

3x—-y—-9=0

AYLHAS EH =2, y=-3
L xy=2x(-3)=-6




12, o] 3 +ax—8S x> +4x+ b= Us o], Y27} 3x+ 47} H| =5
A% a-+ b9 & Astolet
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Bt ax—8% 22+ 4x+ b2 A YA E
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@] xoll Higt FSAo|BE,
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~a=-10, b=3

La+b=-7

x4 ax—8 = (2% +4x+b)(x+ p) + 3x + 49 FH AFE
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L oPAS x-1 2 L
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15. o2 5 a® - b%c — ab? + a?c 9] 2151 A7

@ a-b+c @ c—a ® b+c
@a—b ® c-b+a

a® — b2c — ab? + a?c = a® — ab?® + a?c - b%¢
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)




16. (a—-b+c)(a+b-c)E HNT A2

@ a4 b%+ 2 - 2bc @ a?-b%+ % -2bc
@aQ—b2—c2+2bc @ a?+b% - % - 2bc

® a? + b% + % + 2bc

B

(a=b+c)(a+b-c)
=f{a-(b-c){a+ (b-c)}
=a?-(b-c)?
=a?-b?-c? +2bc
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17. (a+1)(a* -a+1) = d® + 1= °]-&5}] mg‘ ey

Tobef=t.
> E:

> HEeH 2000

B ~
a = 19992t 5}
19981999 + 1= (a-1)a+1=a?-a+1
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D 144 @ 196 @288

@ 308

® 496

B

Al RAZE x, y, 22 5td

BylolE 2(xy + yz + zx) ©|Th.
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f(1) =6, f(x) = (x—2)%g(x) + 6x+ 1

f(x) = (x=1)(x=2)0(x) + ax + bl Al
f(W)=a+b=6, f(2) =2a+b=13

Loa=17b=-1
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(a-b) = 0 WE3H= A7+ ABCE of® 4291712
@ B=120°A 4447 © AZGAAH
® B=150°% EZ447Y  (@)ol5Hd7Y

® (A =35°% A7ty

B

a’*b - a*c + b*c — b%a + c*a - c?b
=a?(b-c)+a(c+b)(c—b)+bc(b-c)
(b-c){a®+ (c+b)a+ bc}

= (b=c)(a+b)(a+c)
wb=c(ra+b#0, at+c#0)




6 4 2
-x*4+x" -1 _
23. =1 10111]1 Xr-xrxr r-1s e —_TL’—O:]El-.
3 X 001 & I R = O]'

cCh "
H =

[ 2
> = 1000

B

B-x4+x2-1 (F+1D)E2-1)
Prdtx+tl (P +1)E+1)
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